AKEERT 112 BFES SN REENEREE

e

_ o BEOBESR:

— M 120 53 53,2130 a4 4

1. () 4iE > E%BC L AB » AD L AB » AC = BD - I F%I[#Emfa &l ?

D C
E

A B

(A) DE = CE

(B) AD = BC

(C) ~ABD= ~BAC
(D)/\ABC=/\BAD ZfF#E ASA &% MG

2. ( ) BRI :A-BHEEL LI C-DIFE4 L2 [ AD - BC [y5cB:5 E » [ AE = DE -

A B |,

2L

BE = CE - ¢c b

KB T H4R LUIESR Lo -
PUN B/ NEAVEEHHEAE ¢
=5HH © AAEB F1/DEC

" AE = DE » BE = CE - ZAEB= /CED(#TEMEIHZE)

.. /\AEB=/\DEC( EFMHH)
iy ~ BAE= . CDE
=HE4R LEL Lo ( )
LRSI AL TP (22 AR AL 2
(A)AAS > NEEFATHTE
(B)SAS - N$AFAHHTE
(CYAAS > [EIIAF F A
(D)SAS - [EI{HIP A AL fi

3. ) wfE - | BEAAABC HYANL » 35 L A=T70° A /BIC F% /L

A

B C
(A)110° (B)125° (C)140° (D)145°

<7

4. () 0@ > | BB AABC (YA » 5 AB =8 /44F » AC =6 /A%y » HAABI [ FE B 6 S5

551 QIAACK INIEIRE Ry %/ P 55T 7
A

/




10.

11.

12.

13.

14.

A3 B3 ©6 08

) HIlE > G B 5 AABC (Y.L 45 AG =16 FG =6 BG =14 > HI|AABC [y =H4HE

IPE 2
4

B D C
(A)32 (B)48 (C)57 (D)63
) EAIAABC By =457 R BE > HIREARY R BEATRGI » N1 # EHE ?
(A)R BEE AABC YA
(B)R BEE AABC HIFMs
(C)R BEE AABC HYEE s
(D)R BEARZEAABC AL » AZIMOECEE L
) W& > AABC & = (ESEE = A AHikny » H=(ETHEA S SR f P %55 > Al P BE R
AABC HJHE—F.L 2
A

A

B C
A)AL B)EL (COFELy (D)YMr

) AABC 1 » ~B=90°> G B AABC B[, > 25 AB =7 » AC =25 HIAAGC HyEIER
%19
(A)75 (B)% (C)56 (D)28

) B EEE o CHMATES ETSNE > B = AT AR B T F I 2
ASiFE=AF @) Sm=rfa

OHA=AY OHA=fmk

) RIS IS > R — (B4 — E TERE 2

(AL 78 = A M OE = AT AR

(B) SR = FEI I E = FT AN

(C)$ilifs = FIBHIIME = FTR AN

(D)3 78 = TSN E = P AR

) ELAIE O £5/AABC 4N - [ElC» O BEEAEAABC HISNES » HIIAABC 0y (T = FA7 2
AEm=faF BHA=AK

ORA=AF Oif=fAK

) B By W2 ISR = AT ELAL S TR BERER Ry %) 2

(A)12 (B)14 (C)16 (D)18

) 1 255 AABC (YL » 35 AB =6 BC =9 AC =12 > HIAAIB + ABIC + AAIC {4
H Fyfa] 2

(A)3:4:6 (B6:4:3 (C)4:3:2 (D)2:3:4

) ELHIAABC (=38 sh 4557 R B HIRARY R BEAIACM » T 51fa] & TERE 2

(AR L5 AABC {1 =185 BE

(B)R 255 AABC ()= L B

(C)R BEEI AABC F= i i s fr




(D)R BEEI AABC Y = =2 FExf
15. ¢ ) ‘FHEEAE—EAABC 81 Q BL > DL Q Bi&ElL - v[fE—EI¥ELAABC 1y =EM V] - AR
Q BEARCIL » T HIrTE IEHE ?
(A)Q BEZEAABC HIN L
(B)Q EEE AABC #Y4M s
(C)Q BEE AABC HYEE [
(D)Q EEAEAABC AL » A EIMOLEEE
16. () EU410 ik /AABC fJ5h, - %5 AB =8> BC =10 AC =12 H| OA : OB : OC = ?
(A)3:4:5 (B)5:6:4 (C)12:10:15 (D)1:1:1
17. ¢ ) EFIN EBIREAABC AL » RIRBER N BEHYALE > N0 & I ?
(AN BEA7 A AABC =N 4R AC B
(B)N ELEA7 A AABC = 4y <c Bh
(C)N L7~ AABC =& th FR4R <5 BE
(D)N LA A AABC = S HYAC B
18. () BEFIAABC INHIFR Ay 96 “F 7Ty » H=1ERE7hE 30 A4 ~ 26 2457 ~ 8 A%y » RIAY]
B R 2 ANy 2
(A)3 (B)4 (C)5 (D)6
19. () 4@ > AABC 1> # AD = BD = CD =10 A%} » AC =16 A% » HIAABC I k%
ﬁLiFji/\/\?

AN

B D C
(A)92 (B)94 (C)96 (D)98
20. () B BEEAABC (AL 5 2A=100° HI| /IBC+ £ICB= ?
(A)20° (B)40° (C)60° (D)80°
21. () %I > AD 3 BC j* O %> % OA = OD :» OB = OC - HI FHIACIFE 2 IERERY :
H : AAOB=ADOC 7. . /B=_,C

N : AB = CD T : AB//CD

(A)H
() Vs
OCOF "~ T
DOHE-~-Z K"~ T
22. () NEEHEMSEN=APEREEaE S EA o SRt EZ B
(A =AIP & =]
(Bt =P EEr = F ELH ]
CyE=APERN =AY
D)y a=mP&EE =5 LT
23. () TR ELEIRGE - AR 2
(A=A EE M EER: > BE B A< B BB
(B)E.LEI=AE 2 = TAEAI IR S

e e e 2
(C)FELEI =AY 2 = [FREIVEEAE 2% TR 2 R R 5

3




(D) =AIZIE L—EE = AR ES
24. ()B4 &> AABCH > AB=AC » BD =CD -
A

1|2
B l
D C

k% : AD L BC -
G : (1) AB = AC » BD =CD » AD = AD
(2) AABD=A\ACD(SSS 51/
@__(#H)_
(4)# AD L BC
S S PR R A R AR - B S B ©
(A)£1=~2
(B)." AD L BC > ...1=.,2=90°
(C)'."s/B=,C> ../ 1=,2
D). £1=,2> X £1+ £2=180°> .". £1= ~2=90°
25. () 3 a BEE A FSIRCH A% ERE 2
(A)7a+2 B#E (B)a+5 BaH
(C)2a—3 B{E# (D)a® BIEEK
26. () EH1-A=80°> 3 /B RIIETHIEE £ A RIS > Bl /B=?
(A)80° (B)100° (C)80°=Y 100° (D)10°=;, 80°
27. () %@ > AABC i » ~ACB=90°> D % AB 1%5 > DE | BC jAE B« B« ZF ASHE T
ElEDEN e
H: " ADBE=ADCE - .". /1= /2
Z o ADBC=ADAC . A= /B

IR —{E H 2 ey 2
A

B E C
(A N H T
(B)WI A\ #oar
(C)FHIEHE » Z38ER
(D)EFGHaR » LIEHE
28. () EfEEEHH T 4RER > thEELR AT —BAEISRER I AV s R o SRR NP 25
HE ?
(A)SAS (B)ASA (C)AAS (D)RHS
29. () BEH1 0 BiAEAABC YN » 45 2A=130°> A ~BOC= ?
(A)50° (B)100° (C)50°sk 100° (D)80°sk 100°
30. ¢ )EHIAABC F- | B G =APHIALL » 35 £BIC=135° AJAABC & FYIf—fE =& ?
(A=A BEA=AF
Oflira=ralr OYFEERE » AT
— -~ EE
1D 2B 3B 4A 5D 6C 7D 8D 9D 10C 11.D
4



12A 13D 14B 15A 16D 17.A 18A 19.C 20B
21D 22A  23B 24D 25.A 26C 21.C 28A 2B
30.B



